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MULTIPLYING BRACKETS NO CALCULATOR ﬂ 1 E1
DOUBLE BRACKETS Ref: G232
Al Expand A2 Expand A3 Expand A4 Expand
2x+7)(x-5) (5x +3)(x +6) (4x—T)(x—-2) Bx—=5)(x+4)
B1 Expand B2 Expand B3 Expand B4 Expand
2x+5)(3Bx+1) Bx+4)4x-95) Bx-=7)(5x+9) 2x+3)2x-3)
C1 Expand C2 Expand C3 Expand C4 Expand
(x+y)x—y) Gx =y)(7x +y) (2x + 5y)(3x - 2y) (3x +4y)(3x —4y)
D1 Expand D2 Expand D3 Expand D4 Expand
(x+y)’ (2x +3)° (5x—2y)° (ax + by)’
E1 Expand E2 Expand E3 Expand E4 Expand
o +x+5)(x+2) o +x-3)(x-2) (* +2x—5)3x+7) C+x—4) @ -x+1)
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MULTIPLYING BRACKETS

DOUBLE BRACKETS

NO CALCULATOR

Ref: G232. 1 E 1

Al Expand A2 Expand A3 Expand A4 Expand
(2x + 7)(x — 5) (5x + 3)(x + 6) (4x - T)(x - 2) (3x - 5)(x + 4)
2x* -10x+7x-35 5x*+30x +3x+18 Ux? —8x—7x+14 3x*+12x-5x-20
2x*-3x-35 5x” +33x+18 Bx*—15x+ 14 3X*+7x-20
B1 Expand B2 Expand B3 Expand B4 Expand
(2x + 5)(3x + 1) (3x + 4)(4x - 5) (3x—7)(5x +9) (2x + 3)(2x - 3)
6x*+2X+15x+5 12x* —15x +16x— 20 15x" +27x —35x — 63 Ux* —6x+6x—9
6x* +17x+5 12x* +x-20 15x* —8x—63 Ux* -9
C1 Expand C2 Expand C3 Expand C4 Expand
(x+»x-y) Bx=y)(7x +y) (2x +5y)(3x - 2y) (3x +4y)(3x - 4y)
X -xy+xy-y’ 2AX* +3xy-TxYy - Y* 6x* —Uxy +15xy — 10y? Ox* —12xy +12xy — 16 y*
x> = y* 24x% —Uxy — y* 6x*+1lxy —10y* 9x* - 18y*
D1 Expand D2 Expand D3 Expand D4 Expand
(r+9)° = (x+ Y)x+y) (2x+3)"= (2x +3)(2x +3) (5x-2y)" = (Bx-2y(Bx~2y) |  (ax+by) = (ax+by)ax+by)
X+ xy+Xxy+Y° Ux*+6x+6x+9 25x% —10xy — 10xy + 4y* a’x* +abxy + abxy + b* y*
X2 +2x) + Y Bx? +12x+9 25x% — 20Xy +4y* a’x* +2abxy + b*y*

E1 Expand (x*+x+5)(x +2)
XA (X +2)+ X(x+2)+5(x+2)
X3 +2X%+ X* +2x+5x+10
X°+3x*+7x+10

E2 Expand (x*+x-3)(x-2)
XA (x=2)+x(x-2)-3(x-2)
X2 —2x*+x*—2x-3x+6
x> —x*-Bx+6

E3 Expand (x*+2x-5)(3x+7)
X*(Bx+7)+2x(3x+7)-53x+7)
3X°+7x*+6x* +1Ux-15x-35
3x°+13x* - x-35

E4 Expand (x> +x—4) (x>~ x+1)
XX =x+1)+x(X* = x+1)-Wx*-x+1)
X =0+ X+ X=X+ x=Ux* +Ux -l

X' —Ux* +5x -1
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